TECQO



ol

SRITRh IR B EDE Z KNG

TECO Global Deployment on Explosion—proof Motor Certification

@ Series Certification Q Unit Certification

Class I Div.2 () ~1250HP, 660V Ex ec(na) @) ~200kw, 600v (@) 95~11200kwW, 7000V
@ @ 125-8000HP, 6600V @® 150-15000kw, 11500V
us © 200~7500+P, 13800V Ex eb(e) @) ~200kw, 600v (@) 95-600kw, 11500V

G"S Class Il Div.2 () ~800HP, 600V Ex p (@ 150-15000kW, 13800V

J L= © 125-2410HP, 6900V Ex db/tD @) ~200kw, 600V

North America

@

Taiwan

(AUS, Asia, Europe...etc.)
Global

E

CHINA
@ Ex ec(na) (@) 95-1120kw, 7000V

@ 150-15000kW, 11500V @ 150-15000kW, 11500V

Ex eb(e) @) ~560kw, 690v (@) ~600kwW, 11500V

@)

Ex ec(nA) 6 95~11200kW, 7000V

@

Ex eb(e) Q ~B00kW, 11500V

Exp (@) 150-15000kW, 13800V Ex p @ 150~15000kW, 13800V

Ex db @) ~560kW, 690V
Ex db/tD 9 ~400kW, 1140V 6

Ex tD @) ~560kW, 690V
© 220-2240kw, 11000V

MREB/MBRIREN/RIES/BEE/IP5S5

RS ETERANBTRIEY > AEESEHN - CIMRNERERNINTAREY > ERERPZANENE(RE
RS ZRIME)EINRFERE > E5—BASIREFRE > B5IEASIRNE 5 L > PHIRBERPRBERATER
[RABENEEBAPIIAMIRAS - MRIZEFIBEERRE - ZEFHLEREZEN - MRTHEFSEERZIRFEARERGIRRE
ANEERERZEK -

%= ©) @) (€

o $6S  m SG§

ISO—9001 EIfE SR IDE

ISO-140013R1E & 1E 05
(ET2  EHEAASTE B .2
OHSAS 18001 £ %02 & BRI ' -




MRE R

AEHFXS / AEUFXS

H B IRAERE R
FE8E Squirrel Cage Induction Motors ( SCIM )
. IEC 60034, CNS 14400, IEC60079-0, IEC60079-7, IEC60079-15
ERETRIE

CNS 3376-0, CNS 3376-7

220 to 500V For F#63~180 ; 220 to 600V For F#200~250 ;

BR
380 to 600V For F#280~315
AR 60Hz
B mEsh 0.75KW ~ 200kW
" R.P.M.(Syn.) 3600 ~ 1200 R.P.M. (2 ~ 6 Poles)
BREZEE Continuous. S1, MCR ( S.F. : 1.0)
LiE 80 ~ 315MC
Totally Enclosed Fan Cooled
R & 2alAC IECEx Increased Safety, IP55
Self External Fan, Surface Cooling ( IC 411)
ZEAR Horizontal Foot Mounting B3 ( IM 1001 )
15FF  Zone 1 or Zone 2
AR -20C ~ 40°C
ERRIE
#E  Less Than 95%RH ( Non — Condensation )
#Z5&  Less Than 1,000m
e fERRIRIE Ex e Il T3 : Suitable For Zone 1, Group |I.
. Voltage : + 10%, Frequency : + 5%, and 10% of Combined Voltage
EE IR
& and Frequency, But Frequency Variation Does Not Exceed + 5%
BEA Full Voltage Direct On Line or Y — A Starting
For Belt-Drive Application, However for 2—Pole 22kW ( MA Frame)
BEHR °p
and Larger, Direct-Coupling Service Only
= Bi - Directional
. CNS 14400 C4482 ~ IEEE-112 Method B
AEHRER
b: and Full Voltage Measuring Performance
g
;& . F#63 ~ 180M : Not to Exceed 80°C Rise by Resistance Method at S.F.1.0
T /m
4 F#180L ~ 315M : Not to Exceed 95C Rise by Resistance Method at S.F.1.0
8
£ BRI 120% Syn. R.P.M. for 2 Minutes
BEEEE 160% Rated Torque for 15 Sec.

i BHSIRER  ARAERF LR EMEH -



HEER (1~30HP)

223 / -20C~40C B)R / [FREES.F. 1 1.0 / 60HZ ( 220V / 380V )

HERREREH -

*Enﬁ Som Y X ﬁ i e ’EE
ik ™| w5 | 85 | @R | e
%FLT|%FLT|%FLT

3460 80M 80.0 795 760 845 78.0 670 291 169 26 15 0211 435 375 430 0.006 5.0

1 075 1730 80M 855 845 825 720 620 480 320 185 26 15 0422 415 400 420 0.013 14.0

1145 90L 825 83.0 815 70.0 620 490 341 197 20 12 0637 195 175 265 0.022 220

3445 90L 855 860 845 860 8.0 71.0 535 310 46 27 0424 395 375 395 0.011 5.0

2 1.5 1745 90L 875 880 86.0 780 700 570 577 334 51 30 0.836 325 290 385 0.023 9.0

1165 112M 885 88.0 855 655 57.0 445 679 393 42 24 1253 160 155 270 0.071 30.0

3455 90L 86,5 865 855 865 815 7.0 772 447 70 41 0.620 390 370 400 0.015 5.0

3 22 1745 100L 895 90.0 895 820 750 63.0 7.87 455 75 43 1227 320 250 330 0.050 10.0

1160 112M 895 89.0 875 675 600 47.0 956 553 57 33 1.845 165 155 265 0.084 18.0

3475 112M 885 89.0 88.0 905 870 800 121 7.02 120 69 1036 320 280 385 0.046 5.0

) 3.7 1750 12M 895 ©90.0 895 820 770 670 132 7.66 110 64 2.057 225 180 325 0.083 8.0

1165 1328 895 ©90.0 89.0 78.0 720 600 139 8.05 105 61 3.090 185 170 280 0.143 15.0

3510 132S 90.2 90.2 895 89.0 865 80.0 180 104 140 81 1525 245 200 295 0.076 6.0

75 55 1760 1328 917 915 91.0 84.0 785 665 187 108 157 91 3.041 250 195 310 0133 8.0

175 132M 910 91.0 90.0 750 68.0 550 211 122 170 98 4554 230 210 345 0.217 10.0

3510 1328 902 90.2 895 87.0 840 770 251 145 200 116 2079 255 215 300 0.076 5.0

10 7.5 1765 132M 91.7 920 915 835 780 675 257 149 230 133 4.135 270 200 320 0.173 6.0

175 160M 917 920 91.0 79.0 735 625 272 157 210 122 6.211 280 235 285 0484 6.0

3535 160M 917 920 910 905 890 84.0 348 201 280 162 3.028 235 185 285 0.183 5.0

15 1 1765 160M 924 924 920 850 810 720 36.8 21.3 290 168 6.064 245 185 275 0.367 6.0

170 160L 917 920 915 800 750 640 394 228 320 185 9.148 305 255 290 0.630 5.0

3530 160M 917 920 915 90.0 880 81.0 477 276 390 226 4135 240 190 290 0.186 5.0

20 15 1765 160L 93.0 930 925 860 83.0 750 49.2 285 400 232 8269 255 190 285 0462 6.0

175 180MC 92.0 930 93.0 83.0 80.0 720 516 29.8 340 197 12421 240 185 235 0.630 7.0

3535 160L 924 924 920 910 90.0 845 577 334 500 289 5.092 260 200 295 0.237 5.0

25 18,5 1770 180MC 936 936 925 87.0 845 775 596 345 470 272 10170 250 190 265 0.707 7.0

180 180LC 935 935 93.0 820 770 670 633 367 530 307 15255 305 245 310 0810 5.0

3545 180MA 93.0 93.0 920 885 865 80.0 701 406 560 324 6.038 225 180 280 0.283 5.0

30 22 1775 180MC 936 935 935 84.0 81.0 730 734 425 560 324 12060 220 160 250 0.792 5.0

180 180LC 935 935 935 83.0 785 69.0 744 431 590 342 18141 285 225 285 1917 5.0




KM (40~270HP)

23 / -20C~40C BR / [FHREHS.F. 1 1.0 / 60HZ ( 220V / 380V )

sk | | 4| 2 g | BB | BA | BA

a# | 8
(%)

3550 180LA 935 94.0 93.0 92.0 90.5 86.0 915 53.0 840 486 8223 280 215 325 0434 50

40 30 1775 180LC 941 945 940 855 835 770 979 56.7 720 417 16445 225 185 255 1.005 5.0

1180 200LC 941 94.0 935 865 845 78.0 96.7 56.0 620 359 24737 210 165 215 3.023 8.0

35565 200LA 93.0 925 915 89.0 865 79.0 17 679 960 556 10127 170 145 295 1.018 5.0

50 37 1780 200LC 950 95.0 945 855 83.0 75.0 120 69.2 870 504 20225 215 180 250 1896 6.0

1185 200LC 941 945 935 850 815 73.0 121 70.3 860 498 30.381 240 185 240 3.605 7.0

3555 200LA 936 935 925 915 915 880 138 79.8 1000 579 12316 160 130 265 1187 5.0

60 45 1775 200LC 955 955 955 855 83.0 75.0 145 83.7 1050 608 24668 215 185 260 1.979 6.0

1185 225SC 945 945 940 865 835 76.0 144 836 1090 631 36949 240 215 260 5106 5.0

3570 225SA 945 95.0 945 90.0 90.0 86.0 170 98.3 1310 758 14.990 165 140 290 1541 6.0

75 55 1785 225SC 955 955 95.0 865 845 78.0 175 101 1440 834 29980 290 205 260 391 7.0

1185 250SC 950 955 945 830 795 71.0 183 106 1260 729 45160 190 165 260 6.492 5.0

3565 250SA 945 945 940 885 870 820 235 136 1650 955 20470 140 120 285 1759 6.0

100 75 1780 250SC 954 950 935 86.0 845 780 240 139 1870 1083 40997 190 150 300 4.853 5.0

1185 250MC 950 945 94.0 86.0 835 76.0 241 139 1620 938 61582 185 160 250 8.175 6.0

3575 250MA 95.0 945 935 89.0 87.0 820 279 162 2470 1430 24.495 135 140 310 2.287 5.0

125 90 1785 250MC 954 955 95.0 850 83.0 80.0 288 167 2540 1471 49.059 200 185 305 6.111 5.0

1187 280SB/C 95.0 945 935 850 84.0 800 --- 169 —-- 1550 78500 190 170 250 15100 8.5
3575 280SA 951 94.8 940 87.0 86.0 820 -—— 202 -—— 1670 32202 135 120 260 3.900 9.0
150 110 1788 280SB/C 958 955 94.8 845 835 800 -—— 206 -— 1550 60.071 160 140 290 9.800 7.5
1188 280MB/C 95.8 955 945 845 80.9 722 -—— 206 --—- 1750 94730 190 170 260 17.900 8.0
3575 280MA 952 950 94.0 89.0 880 850 -—— 237 -— 1850 37.672 135 120 250 4.900 8.0
175 132 1788 280MB/C 96.2 96.0 95.2 860 833 761 --—- 242 -—— 1800 71.673 160 140 290 11500 7.5
1187 315SB/C 958 955 950 835 815 735 -— 251 -— 2150 105125 200 180 250 19.800 8.5
3575 315S5A 954 950 945 90.0 89.0 855 -— 283 -—— 2400 45810 140 125 250 5.800 9.0
215 160 1788 315SB/C 962 950 94.0 87.0 86.0 820 --- 200 -— 2250 88.079 140 125 280 12.800 7.0
1187 315MB/C 96.0 955 945 820 80.0 735 -—— 309 -— 2400 135.031 200 180 240 22.700 75
3575 315MA 958 955 952 905 90.0 865 -—— 350 -—— 2850 54773 140 125 240 6.300 85
' 1788 315MB/C 962 96.0 955 87.0 86.0 820 --—- 363 -—— 2600 110.932 140 125 280 14.400 7.0

NOTE

1. BAEAIE B4R # ANSI/ IEEE standard 112 method B Iz 2. WEE - TA iii}?_ BETRERREmE
3. AZEERIBIEC 60034-1 4. U EEEES BARBITEA




T PRz & TR

Exell T3 Gb

T EE(2012)5500471X5%

63
71 T&E(2012)5500472X5%
80 T &E(2012)5500473X 5%
90 T&E(2012)5500474X5k
100 T E(2013)5500036X5%
12 T E&E(2012)5500475X5%
132 T&(2012)5500476X5k
160 T &(2012)5500477X5%
180 TE(2012)5500478X5%
200 T &(2013)5500276X5k

T &(2012)500479X5%

225
250 T &(2013)500375X5%
280 T &(2014)500042X5}

CNS 3376-0

(2008)

CNS 3376-7

(2008)

315 T &E(2014)5500043X5%




AEHFXS FMER T B

FRAME SIZE 80~132M

& 1 & 2
AD
AD L AC
AC
% ED m
B=0 ) - . L
el TR {pfice
LE ¢l e ke /| AE M e | B [ ¢ | E | wme /[ | & m
BB ‘ A w BB A
4-PK Holes AB | 4-fK Holes AB |
Fo 1T
| XY™ jaYe®
DH TAP Ji[i] DH TAP gD

Dimension in mm

& (kw)
1E 5% | & SR AC | AD | AE BB C H HA | HC | HD K
50 80 9.0 168

0.75 0.75 - 80 35.5 177 179 130 100 130 - 10
;g 1.5 0.75 90L 1 140 355 170 200 192 143 125 150 56 90 10.0 190 i 10
- 2.2 — 100L 2 160 450 195 219 202 153 140 175 63 100 125 -— 243 12
3.7 37 ;‘2 112M 2 190 450 224 238 211 162 140 175 70 Mn2 140 - 265 12
gg 55 387 1328 2 216 45.0 250 273 249 187 140 175 89 132 16.0 - 310 12
- 75 55 132M 2 216 450 250 273 249 187 178 212 89 132 16.0 -— 310 12

HE 5% KK
e T

80M PF 1/2" 283 41.0 6 15.5 215 M6x%12 6204727 6204727 19
90L PF 1/2" 333 41.0 102 24 50 32 8 20.0 27.0 M8x16 620527 620527 26
100L PF 1/2" 375 410 12 28 60 40 8 24.0 31.0 M10x20 620627 6206272 39
112M PF 1/2" 392 48.0 122 28 60 40 8 24.0 31.0 M10x20 630627 630627 50
1328 PF 1" 454 48.0 145 38 80 64 10 33.0 41.0 M12x24 63082z 630827 72
132M PF 1" 492 48.0 145 38 80 64 10 33.0 41.0 M12x24 63082z 63082z 82

NOTE

1. BOEEDAZ : Under P19 ~ 28: j6, 1138: k6
2.BOBEEHAZ  +0, -0.5




AEHFXS FMER T B

FRAME SIZE 160~225SC

[ 3

HD

ik

KK TAP

AD

LE!

Dimension in mm

4-PK Holes

4
AD
AC L
1 2]
:1 TEC® W £
. |
I )
 — = w g
‘ T T T I‘[
AE M e
B | LE ‘ B ‘ CE| Kkmp
BB | BB 4-0K Holes
-
A

DH TAP

DHTAP

T ex a2 [ ool lre o Jes e L ool
E
Ron 75 160M 300 334 14.5
185 15 1 160L 3 254 50 300 334 287 225 254 300 108 160 18 377 83 145 0
22 - - 18OMA 4 279 75 355 382 812 250 241 335 121 180 22 431 103 145 19
- 85 15 180MC 3 279 75 355 382 312 250 241 335 121 180 22 431 103 145 19
30 - - 180LA 4 279 75 355 382 312 250 279 389 121 180 22 431 103 145 27
~ 30 '8 180LC 3 279 75 355 382 312 250 279 389 121 180 22 431 108 145 27
31 - - 200LA 4 318 80 400 458 392 307 305 400 133 200 25 499 88 185 17.5
- 3 39 200.c 3 318 80 400 458 392 307 305 400 133 200 25 499 88 185 17.5
55 - — 225SA 4 356 100 450 510 452 355 286 415 149 225 30 550 57 185 32
~ 55 45 2255C 3 356 100 450 510 452 355 286 415 149 225 30 550 57 185 832
--- p EET
n---- TR

160M PF1"  608.0 180.0 370 450 M16x32 630972  63072Z 133
160L PF1" 6520 42 1800 42 10 80 12 370 450 MI6x32 63092Z 6307ZZ 148
180MA  PF11/2" 7100 50 2380 48 110 80 14 425 515 MI6x32 6311ZZC3 63102ZC3 235
180MC ~ PF11/2" 7100 50 2380 48 110 80 14 425 515 MI6x32 6311ZZ  6310ZZ 250
180LA  PF11/2" 7640 50 2540 55 110 80 16 49.0 59.0 M20x40 63127ZC3 6310ZZC3 240
180LC  PF11/2" 7640 55 2540 55 110 80 16 49.0 59.0 M20x40 63127Z  6310ZZ 255
200LA  PF2" 8095 55 2615 55 110 80 16 49.0 59.0 M20x40 63127ZC3 6212ZZC3 355
200LC  PF2" 8395 60 2615 60 140 110 18 53.0 640 M20x40 6314ZZ  6212ZZ 385
225SA  PF2" 8500 60 3050 55 110 80 16 49.0 59.0 M20x40 63122ZC3 6212ZZC3 470
225SC  PF2" 8800 60 3050 65 140 110 18 580 69.0 M20x40 63152Z  6218ZZ 500

NOTE

1. BUOEFEDAZE ¢ Under $42 ~ p48: k6, P55 ~h70: m6
2. BOBEHAL 1 +0, -0.5




AEHFXS FMER T B

FRAME SIZE 250SA~250MC

=5 & 6
AD AD
L AC L AC
— 2 + 53 ED T n ED
LT |
TEC® =i = TECD = = _1
iﬁ\ —=
= g - < = =
——— l‘; > r——; = ﬂ;\‘; =7L % <
BN ‘ = M e B c |k * A i)
LE B C | E | KkmAP A \
BB ‘ 4-OKholes | AB ‘ 4-OSHoles /|

B KK TAP A
AB
1

DHTAP /| gD

Dimension in mm

250SA 406 10 500 545 513 395 311 385 168 250 32 612 42 24 0
250SB

- 75 55 550SC 5 406 10 500 545 513 395 311 385 168 250 32 612 42 24 0

90 - — 250MA 6 406 10 500 545 513 395 349 480 168 250 32 612 42 24 285
250MB

- 90 75 250MC 5 406 110 500 545 513 395 349 480 168 250 32 612 42 24 285

n----

250SA PF3" 8525 71 2635 49.0 59.0 M20x40  6313C3 6313C3 500
250SB . %6316
os0sc PF8" 8825 71 2635 75 140 10 20 675 795 M20x40 (36 6313 565
250MA  PF3" 9475 71 2635 55 110 80 16 49.0 59.0 M20x40  6313C3 6313C3 590
250MB \ *6316
osome  PF38" 9775 71 2635 75 140 110 20 675 795 M20x40  \mis 6313 640

NOTE

1. BROETEDAZE © Under Y42 ~ 48 : k6, P55 ~Pp70 : m6
2. WOBSEHAZE - +0, -0.5
3. * For Direct Flexible Coupling




AEHFXS SMER T B

FRAME SIZE 280SA~280MC

[l 7 [ 8

AC

AF L AD AF

m|m

HD

mm

- =
e ow
LE BBB [

=
2
|

=7
L3

LE B C E

Dimension in mm

Eﬁw kW
1E 5% | B 5%
ST

280SA 110 560 625 703 470 305 368 110 445 190 104 280 36
280SB
- 110 - 280SC 8 457 10 560 625 703 470 305 368 110 445 190 157 280 36
132 = 132 280MA 7 457 10 560 625 703 470 305 419 130 495 190 104 280 36
280MB
- 132 - 280MC 8 457 10 560 625 703 470 305 419 130 495 190 157 280 36
e HE LE
n----
280SA 710 67.5 PF 4" 1226 558 6314C3 6316C3 848
280SB . *6320
280SC 710 67.5 24 PF 4" 1072 71.3 344 85 170 140 22 76 90 NU320 6316 873
280MA 710 67.5 24 PF 4" 1277 71.3 558 55 110 80 16 49 59 6314C3 6314C3 898
280MB *6320
280MC 710 67.5 24 PF 4" 122 71.3 343 85 170 140 22 76 90 NU320 6316 943
1. BOE{EDAZE : Under P42 ~ 48 : k6, P55 ~70 : m6

2. BIOBEHAZE 1 +0, -05
3. * For Direct Flexible Coupling




AEHFXS MER T B

FRAME SIZE 315SA~315MC

& 9 10

® ° o]

HD
i
©
SN
7
||k

=

,jm BAE; KK TAP AAA M /

LE B C | AE LE B C E
BB K hole A BB

Dimension in mm

QEU H—Jl kW l
5 iG 5 G
---

- 315SA 15 615 625 703 470 305 406 15 490 216 104 315 40
315SB
- 160 182 4i5gc 10 508 115 615 625 703 470 305 406 115 490 216 157 315 40
200 - - 315MA 9 508 115 615 625 703 470 305 457 225 667 216 104 315 40
315MB
- 200 160 gi5pc 10 508 115 615 625 703 470 305 457 115 540 216 157 315 40

1E 5% = E =
L

315SA 743 102.5 PF4" 1376 713 369 6314C3  6316C3 905
315SB . *6320
Jieee 743 1025 28 PF4" 1161 713 369 95 170 140 256 86 100 |\ )3o0 6316 1025

315MA 743 1025 28 PF4" 1496 71.3 7N 55 110 80 16 49 59 6314C3 6314C3 1059

315MB *6320
315MC 743 1025 28 PF4" 1212 713 470 95 170 140 25 86 100 NU320

NOTE

1. BROETEDAZE © Under Y42 ~ 48 : k6, P55 ~p70 : m6
2. WLBSEHAZE  +0, -0.5
3. * For Direct Flexible Coupling

6316 1155




AEUFXS FMER T B

FRAME SIZE 80~132M

=i [ 2

KK TAP _ | HB 4I-IBL\
HEIR

‘ KK TAP

N
1B
L
;ﬁ ;%W
AD
n
—

AD

@
Lﬁﬂx
LB
L
ot
=2

AE

45°
&

45°
N
Y,
AE
’_E
KE

fimil) e

LA

—

N 4-0S Holes

- | +

]
msl—“—A
ﬂJ ] B
T |LA
é \( A
+
\ ‘%/

6
N
Nis
6A
j

DH TAP o DHTAP /| 9D

Dimension in mm

iE 5% | B 5% KK
ﬂ
075 075 - 1 177 165 125 - PF1/2" 323.0 12 2830 60 165 130 200
;g 15 075 90L 2 200 178 138 - PF1/2" 4125 12 3625 113 165 130 200
- 22 - 100L 1 219 202 153 140  PF1/2" 4155 16 3555 88 215 180 250
37 37 ;52 112M 2 238 210 162 150 PF1/2" 4790 16 419.0 135 215 180 250
?:g 55 37 132S 1 273 249 186.5 169 PF 1" 502.0 20 422.0 97 265 230 300

75 55 132M 1 273 249 186.5 169 PF 1" 540.0 20 4600 M6 265 230 300

ks
1E Sk T
“------ G

12.0 3.5 6 15.5 21.5 M6x12 620427 620477
90L 12.0 3.5 24 50 32 8 20.0 27.0 M8x16 620577 620577
100L 14.5 4.0 28 60 40 8 24.0 31.0 M10x20 620677 620577
12M 14.5 4.0 28 60 40 8 24.0 31.0 M10x20 6306727 6206727
1328 14.5 4.0 38 80 64 10 33.0 41.0 M12x24 6308727 6306727
132M 14.5 4.0 38 80 64 10 33.0 41.0 M12x24 6308727 6306727

NOTE

1. EOBEEDAE ¢ qm (28 : j6, P38 : k6
2. 5IEEENAE




AEUFXS FMER T B

FRAME SIZE 160M~180L

gl
4|

(18 HBW ‘ KKTIP [ ol KK TAP
- i |
= =,

HFL( il W
R i $
LTACT = - K) &%ﬁu |

ﬂN 4-0S Holes
F gp F

H | H
ey T

DH TAP gD DH TAP Ji]1]

.:30
B
@
N
LB
L

AD

AE
AE

|
==
] : )
S
LB
L
5o
N
A
o

|.LA

PR
(

D |
T

E

(&)

)
T

E

4-0S Holes

=
=

GA

Dimension in mm

1E 5%

i m 75 160M 3 334 287 225 217  PF1" 650 20 540 1510 300 250 350

185 15 1 160L 3 334 287 225 217  PFI" 694 20 584 1730 300 250 350

22 - - 18OMA 4 382 312 250 241 PF11/2" 760 20 650 189.5 350 300 400

- 5 15 1oMC 4 @82 312 250 241 PF11/2" 760 20 650 1895 350 300 400

30 - - 18OLA 4 382 312 250 241 PF11/2" 84 20 704 2165 350 300 400
185 4

- 30 5,5 180LC 382 312 250 241 PF 11/2" 814 20 704 216.5 350 300 400

=
HE 5% S
BN N N N T AT T

—

160M 18.5 5 37.0 45.0 M16x32 6309727 6307272
160L 18.5 5 42 110 80 12 37.0 45.0 M16x32 6309727 6307272
180MA 18.5 5 48 10 80 14 42.5 51.5 M16x32 6311Z2ZC3 6310Z2ZC3

180MC 18.5 5 48 110 80 14 42.5 51.5 M16x32 631127 631022
180LA 18.5 5 55 10 80 16 49.0 59.0 M20x40 63122ZC3 63102ZC3
180LC 18.5 5 55 110 80 16 49.0 59.0 M20x40 631227 631022

NOTE

1. BROEEDAZ  p42~P48 : k6, P55~65 : mb
2. 5| EHENAZE 6




AEUFXS YMERTE

FRAME SIZE 200L~250M

& 5 & 6

1T 1T H ”—HA 3]
’( © HBT‘ ‘ KK TAP e B |

o © .
)
E TEC® { -

S o

=

=i

[na]

0

]
i

LB
L

o
=
&

8-0S Holes

=Y |
=E—_1
ED | /I

T

E

R
-

L
L

DHTAP o0 DHTAP | BD

Dimension in mm

QEU G 1E 5% | B 5% LB LD M N
m -

200LA 5 458 392 307 2860 PF2' 8695 20 7595 2120 400 350 450
- 3 %% o2o0Lc 5 458 392 307 2860 PF2' 8995 20 759.5 2120 400 350 450
55 — — 2255A 5 510 452 355 312.0 PF2" 854.0 22 808.0 2220 500 450 550
— 55 45 22585C 5 510 452 355 3120 PF2" 9480 22 808.0 2220 500 450 550
75 - — 250SA 6 545 513 395 3295 PF3" 9240 22 8140 1825 500 450 550
-~ 75 55 250SC 6 545 513 395 3295 PF3" 9540 22 8140 1825 500 450 550
90 - — 250MA 6 545 513 395 3295 PF3" 1019.0 22 909.0 230.0 500 450 550
-~ 90 75 250MC 6 545 513 395 3295 PF3" 1049.0 22 909.0 230.0 500 450 550

-
1E 5% S
M O N A T

—

200LA 18.5 5 49.0 59.0 M20X40 63122ZC3 6212 zz
200LC 18.5 5 60 140 110 18 53.0 64.0 M20X40 631427 6212 gg
2258A 18.5 5 55 110 80 16 49.0 59.0 M20X40 63122ZC3 6212 zz
2258C 18.5 5 65 140 110 18 58.0 69.0 M20X40 631527 621399
2508A 18.5 5 55 110 80 16 49.0 59.0 M20X40 6313C3 6313
250SC 18.5 5 75 140 110 20 67.5 79.5 M20X40 NU316 6313
250MA 18.5 5 55 110 80 16 49.0 59.0 M20X40 6313C3 6313
250MC 18.5 5 75 140 110 20 67.5 79.5 M20X40 NU316 6313

NOTE

1. BUOEEDAZE : 55 ~p75 1 m6
2. 5| BEENAZE : |6




AEUFXS YMERTE

FRAME SIZE 2805~315M

& 7 = 8
HB HB
AC HB HB
0 AC KK 4
L. i " AN
A = °

AD

AD

®

-6 Hol
B5 Holes 8-05 Holes

°

;F&

LB

L

—<
\\)/‘ N

/Q

; o o

-

f
LD

ST el el [

GA
nl

Y : Drive End Grip Extension of Grease Discharger
I = Non Drive End Grip Extension of Grease Discharger

Dimension in mm

& (kw)
1E 5% | B 5k AE HB LA | LB KK | M N S
EE3AE3
600 550 660 24

LD
610 703 470 104 383 1227 25 117 132 PF 4"

*10 - - 280SA 7

- M0 90 235958 8 610 703 470 157 383 1143 25 973 132 PF4" 600 550 660 24
*132 — - 280MA 7 610 703 470 104 383 1316 25 1206 177 PF4" 600 550 660 24
- 132 110 550Me 8 610 703 470 157 383 1232 25 1062 177 PF4" 600 550 660 24
*60 — - 318SA 7 610 703 470 104 383 1367 25 1257 202 PF4" 600 550 660 24
- 160 132 3% g 610 703 470 157 383 1283 25 1113 202 PF4" 600 550 660 24
*200 — - B1BMA 7 610 703 470 104 383 1494 25 1384 266 PF4" 600 550 660 24
- 200 160 S;2ME 8 610 703 470 157 383 1410 25 1240 266 PF4" 600 550 660 24

1E 5% T Y Z
280SA 6 585 585 55 110 80 16 49 59 6314C3 6314C3
280SB *6320
580SC 6 560 535 85 170 140 22 76 90 NU320 6316
280MA 6 585 585 55 110 80 16 49 59 6314C3 6314C3
280MB *6320
280MC 6 560 535 85 170 140 22 76 90 NU320 6316
315SA 6 585 585 55 110 80 16 49 59 6314C3 6314C3
315SB *6320
31550 6 560 535 95 170 140 25 86 100 NU320 6316
315MA 6 585 585 55 110 80 16 49 59 6314C3 6314C3
315MB *6320
315MC 6 560 535 95 170 140 25 86 100 NU320 6316
1. EOEEDAZE  mb 2. 5| BHENAE : js6
3. Usable Shaft Length : EE 4. *For Direct Flexible Coupling

14



A= D FALCEIR

E—/J\§|)\£M|E
RERE IEC/CNS Group NECS500 Group (micro joules)

AT Propane D 260

2% Ethylene 1B © 95
&R Hydrogen Ic B 20

IR Acetylene Ic A 20

ce & 1 2 G Exell T3
J [ ] [ ] [ ] [ ] I

CEZ56 EEHRE
BB EZES Y am
B}‘j ng Ay Du$‘l‘ e

IBIERIVER - IBIERIER

Ex e REIEMIBEE

BiF - N g -
(RSB0 W02y ——— | BRI G for ss (0 or s

S /

mEF e QZ
SRIEBREDHN RETZED B CENELEC R
BeaE |ICE 60079 EN 60079 CNS 3376

T2 T2
200°C T3 T3 T3
135C T4 T4 T4
RETTH
< T
_— BIRRES SYRRES " st e
IM=1001(IM B3) IM-3001(IM B5) IM-3601(IM B14) IM-2001(IM B35) (KD Flange)
P N - ] . N K ]
L AT E{ B A EP[ B B %E%
IM=1011(IM V5) IM=3011(IM V1) IM-3011(IM B18) IM-2101(IM B34) (HC Flange)
Il mR
milfrf& | ﬂ EE | = | e 731
et siHE T 1 T RS FIBL —]
i T i




TECO
RABRBRAERDE

WERMEHBFSE

15aithEERERAE3-15%1012
TEL : (02)6615-9111
http : //www.teco.com.tw

&Y
ot
3
£

(0]

e
=l
W
dl

=
anp
o
i
-
>

July 21/BA-16-04



